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2. ﬁﬁ%ﬁ%ﬁ ﬁt% /)T EFIEY-FY

1 HEL(if=E) 5.252 ({% 26.7%
2 TA (EHb#EESE) 2,051 10.4%
3 BiERk(HiESE3R) 1,012 5.1%
4  HEFEME (KB EE) 883 4.5%
5 930U (M#ExR) 799 4.1%
6 1=FH (HHHEZ) 775 3.9%
7 BEHRE (WHEX) 718 3.7%
8 {EIHEW 700 3.6%
9 HBEMHD (HiifEz) 567 2.9%

NI Bt ILay 563 2.9%

‘SR XFZAERIEFREMNY ! !

. B



D oznome



3. MM ERDPIE

» RIEFRD)F—2)—R(E)XUEF|)

4

=a +p (Rm(TOPIX®MD')Z—>)—Rf)

Y =0.39314+0.8974 X
tfiE (1.2476) (14.6348) 95% CTAHE.

RA2 (IRTEZRE ) =0.6241
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Ri({TEZED!)F—2)—Rf(E) X EF))

=a +B (Rm(TOPIXD')Z—2)—Rf, £mnpp &
0.8974

Y=0.7736+0.9957X
tiE (1.2154) (8.0579) 95% CHE

RA2 (RE®REL) = 0.3348
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» ZARIETEZED R THRIEAFL
RL-FA-BEMOKRMIEHZALD

ERDP I
0.8974
»  Y=1.1892+1.2611X

tiE (2.0903) (11.7140) 95% TCTHZ=

RA2 (RTEREL ) =0.515435
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y IEZ AL EDORTHAAFL
9ZHR ) E I -BREHBOKRMIEZHD

2 XARDP (F
0.8974
» Y=0.8612 +0.6494 X

tfig (1.478) (5.7395) 95%THE
R™2 GREHZRE) =0.2034
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4. BELDEARIRF
, BT EADRK

=1)RHT)—L—b+YRHFLIT L x B
=0.01131 +0.043 x0.9957
=0.0541
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